To subtract using column method

Steps to Success:

1) Write the largest number on top

2) Write the numbers with correct place value
3) Start with units

4) If the top number is smaller, you have to
'‘borrow’ from the next column

5) Make sure to change columns you borrow from
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Help your teacher do these
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2) Write the numbers with cor
)|Start with units

4) If the top/number is smaller, you have |to

'borrqw' from the next column

5) Make sure|to change|columns you borrow from
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Sfjss to|Success: _‘_{ —-[-—- U
1) Writelthe Ic rgest number on top 476 - 357 _

2) Write| the numbers with correct place value Ll_ 6? lé
3)-Startwith-units =

4) If the top number is smaller, you have|to ‘borrow’ from - } g /
thenext|column

5) Make sure to change columns you borrow from f I
Complete|these in yaur books using ¢olumn method:

1)1385 4 243

2)|854 + 632

3) Decrease 475 by 213

Yduwilllneed to barrowlin these:

4)'Whatis the dif ference between 851 and 408?

5)|How many (less is 284 than 4827

6)|Decrease 854 by 653

7)|How many |less than 1084 is 446? | Can you do these chdllenges:

Ydu will need to barrow|twice: 10) 1048 + 589

8)|343 + 296 11) How many less than 5900 is 7587

9) 2483 - 1529
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